BK S:t Erik
Plattliret 2015-02-21

Partavling, 27 bord, 53 par. Antal brickor: 57. Medel: 1424.5. Frirond (*) ger egen procent.

Plac Par Poéng % Namn MID Klubb
1 30 1735.0 60.88 Olle Wademark - Jan Selberg 14800 11074 Nasby BS
2 27 1647.0 57.79 Sven-Owe Andersson - Hans Vestergren 8954 33345 BK S:tErik
3 17 1634.0 57.33 Anna Zack Efraimsson - Bengt-Erik Efraimsson 4049 127 BKS:itErik
4 48 1618.0 56.77 Fredrik Wahlberg - Simon Ekenberg 20396 41685 BK S:t Erik - Overums BK
5 13 1607.0 56.39 Peter Carlsson - Per Leandersson 11594 87992 BK S:t Erik
6 22 1601.0 56.18 Goran Hammarstréom - Simon Bech 11426 87173 BK S:tErik
7 20 1599.0 56.11 Gunnar Andersson - Marion Michielsen 18507 53103 BK ALERT - Harplinge BK
7 52 1599.0 56.11 Mikael Rimstedt - Tobias Tornqvist 88184 16484 Harplinge BK - BK Everfresh
9 44 1594.0 55.93 Mats Johansson - Peter Fredin 15014 2514 Uppsalabridgen - BK Lavec
10 12 1569.6 55.07 Thomas Magnusson - Lars Ramquist 3693 80480 BK ALERT - Nashy BS
11 29 1542.0 54.11 Pierre Carbonnier - Tomas Ekholm 5538 81508 LUCK - BK S:t Erik
12 5 1540.0 54.04 Peter Térnblom - Patric Holmberg 2265 17031 BK S:tErik
13 45 15242 53.48 Stefan Ekman - Per Clarin 18318 10538 BK S:t Erik
14 38 1509.0 52.95 Lars Malm - Henrik Ludwigs 90738 10740 BK S:tErik
15 43 1508.4 52.93 Ola Rimstedt - Per-Ola Cullin 88183 21204 Harplinge BK - Uppsalabridgen
16 25 1508.0 52.91 Suzanne Lemborn - Michael Lemborn 14984 1215 Karlstads BK
17 15 1489.0 52.25 Eva Gunnarsson - Tommy Gunnarsson 12598 10295 Veddige BS - Bohus Nations BS
18 36 1480.0 51.93 Bo Ericson - Lars Ericson 2962 12536 Gavle BK
19 53 1479.9 5193 Mart Altmée - Mikael Lindblom 5914 5094 BK S:tErik
20 9 14710 51.61 Malin Helin - Christina Ahl 30933 3140 Gavle BK
21 28 1456.0 51.09 Magnus Ekman - Hakan Lindblom 6926 1437 BK S:tErik
22 35 1448.2 50.81 Madeleine Swanstrom - Tommy Gullberg 9227 9047 BK S:tErik
23 49 1437.7 50.44 Peggy Nyholm - Gudrun Strandberg 51632 4143 Arvika BS - Arla BK
24 32 1437.0 50.42 Joakim Nordlindh - Hans Kvick 35307 2878 Uppsalabridgen
25 34 1436.0 50.39 Simon Hult - Philip Berggren 36107 39845 Overums BK - Frolunda BS
26 47 1435.6 50.37 Peder Skaj - Frederic Wrang 83430 8652 BK S:tErik - BK Lavec
27 54 1435.0 50.35 Claes Melin - Per Séderberg 9105 18380 BK S:tErik
28 2 14239 49.96 Jessica Larsson - Emma Sjoberg 17400 80922 Filbyter Bridge
29 21 1393.0 48.88 Adam Stokka - Olle Sandstrém 30515 88848 BK Bjorken
30 39 13923 48.85 Kenneth Borin - Marten Gustawsson 2076 8699 BK S:tErik
31 6 1391.2 48.81 Daniel Eriksson - Rolf Scherdin 24659 3102 Gavle BK
32 8 1387.0 48.67 Peter Backlund - Johan Séafsten 244 35452 BK S:t Erik - Uppsalabridgen
33 40 1375.0 48.25 Peter Lundstedt - Christer Glimsjo 5004 690 Hovmantorps BK
34 50 1373.0 48.18 Borje Brag - Mia Akerblom 19633 27507 Partille BK - Atrans BK
35 14 1370.1 48.07 Tobias Bende - Linnea Edlund 27672 34773 Salamandern/Wasa - Uppsalabridgen
36 16 1369.0 48.04 Johan Gronkvist - Matias Rohrberg 8342 52703 Orebridgen
37 37 1354.3 47.52 Ylva Strandberg - Tore Stormo 9217 78250 ArlaBK
38 23 1350.0 47.37 Erika Rodin - Sanna Clementsson 93303 55629 BK S:t Erik - BK Bridgehuset
39 41 13427 47.11 Peter Bertheau - Magnus Eriksson 16757 1170 Uppsalabridgen - Harplinge BK
40 11 1328.0 46.60 Ola Weinberg - Gunnar Hallberg 94278 9059 BK S:t Erik
41 4 1321.6 46.37 Per Carlson - Goran Hermanson 37799 37800 BK S:t Erik
42 51 1312.1 46.04 Peter Flodgvist - Henning Tingvall 14778 10744 BK S:tErik
43 19 1298.0 45.54 Lennart Eriksson - Ida Gronkvist 9020 31083 BK S:tErik - Filbyter Bridge
44 7 1297.0 45.51 BengtWiberg - Ola Hellblom 80131 29988 BK S:tErik
45 33 1296.2 45.48 Thomas Wrang - Ben Hayes 91015 6654 BK S:tErik
46 1 1294.0 45.40 Ann-Sophie Andersson - Joanna Tenggren 39116 39113 Rimbo BK
47 10 1283.6 45.04 Gosta Kron - Jim Nilsson 50145 3507 Vaddo BK
48 42 1256.0 44.07 Lars Andersson - Tommy Eneqvist 13156 2243 Tyres6 BK
49 31 12456 43.70 Johan Nilsson - Fredrik Alfredsson 13918 83200 BK S:t Erik - Overums BK
50 26 1241.0 43.54 Lars Andersson - Ann Fagerberg 18938 88969 Skutskars BK
51 46 1180.0 41.40 Urban Mentzer - Ronny Hellberg 11111 84485 Arvika BS - Veddige BS
52 3 1171.0 41.09 Lars Marjoniemi - Nils Andersson 14508 3543 Hallstahammars BK - ABB BK
53 18 1110.0 38.95 Anders d Aquino - Kristina Olsson-Séderhall 21174 8166 BK S:t Erik - Skutskars BK
1 « D95 2 454 3 a7
Nord v 87 Ost vE9543 Syd v EKKn6432
Ingen ¢ K643 NS + D98 ov + Kn106
#K1053 &E94 98
474 » EK8 4 E10 4 D983 4 EKKn65 498
vE10952 vD63 vKD1087 v62 v385 vD7
¢ 97 + EDKn10 ¢ E2 + Kn10 + D972 + 8543
#Kn872 #E%4 #KKn72  #D10865 *K4 #ED762
4 Kn10632 & KKn762 4D10432
v KKn4 vKn v 109
¢ 852 ¢ K76543 ¢ EK
«D6 3 #Kn1053
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
946 4v O-1 4] 50 47.0 3.0(13 42 3NDO-3 +4 500 49.0 1.0 550 4v N= 49 420 42.0 8.0
30 25 3NO-1 43 50 470 3.0(52 3 54DV-3 8 500 490 1.0| 7 48 4v N= 2 420 42.0 8.0
51 4 4v O-1 &5 50 47.0 3.0 6 49 44DV -1 a5 100 42.0 8.0(13 42 4v N= 49 420 42.0 8.0
52 3 4v O-1 &3 50 470 3.0| 7 48 44DO-1 vJ 100 420 8.0|30 25 4v S= 49 420 42.0 8.0
26 29 3NO= a2 -400 410 9.0| 8 47 2NV -2 45 100 420 8.0(34 21 4v N= +4 420 42.0 8.0
34 21 3NO= a2 -400 410 9.0|41 14 3v V-2 45 100 42.0 8.0(35 20 4v N= 49 420 42.0 8.0
13 42 4v O= &2 -420 29.0 21.0|53 2 3v V-2 45 100 420 8.0(39 16 4v N= *4 420 42.0 8.0
15 40 4v V= +3 -420 29.0 21.0|12 43 2v V-1 45 50 31.0 19.0(41 14 4v N= 49 420 42.0 8.0
18 37 4v O= & -420 29.0 21.0(|22 33 44 0-1 vJ 50 31.0 19.0(52 3 4v N= 49 420 42.0 8.0
19 36 4v V= a5 -420 29.0 21.0|34 21 3NV-1 &5 50 31.0 19.0(22 33 4¢ V-2 v¥K 200 31.0 19.0
23 32 4vy 0= & -420 29.0 21.0|35 20 2v V-1 45 50 31.0 19.0|44 11 3vy N+2 43 200 31.0 19.0
38 17 4y V= v8 -420 29.0 21.0|39 16 2v V-1 45 50 31.0 19.0| 9 46 3v N+1 49 170 22.0 28.0
39 16 4v O= & -420 29.0 21.0|51 4 3v V-1 45 50 31.0 19.0(12 43 3v N+1 +4 170 22.0 28.0
41 14 4v O= 42 -420 29.0 21.0| 9 46 34 V= +8 -110 20.0 30.0|15 40 3v N+1 438 170 22.0 28.0
53 2 4v 0= &2 -420 29.0 21.0|15 40 34 V= a5 -110 20.0 30.0|18 37 3vy N+1 ¢4 170 22.0 28.0
54 1 4v V= »5 -420 29.0 21.0|19 36 2v V= a5 -110 20.0 30.0|19 36 3v N+1 &9 170 22.0 28.0
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550 3NO+1 #Q -430 15.0 35.0|26 29 2v V= a5 -110 20.0 30.0|28 27 3y N+1 49 170 22.0 28.0
10 45 3NO+1 42 -430 15.0 35.0|38 17 2y V= a5 -110 20.0 30.0|53 2 3y N+1 3 170 22.0 28.0
12 43 3NO+1 42 -430 15.0 35.0|28 27 2NO = a5 -120 14.0 36.0| 6 49 3v S= v8 140 11.0 39.0
44 11 3NO+1 3 -430 15.0 35.0| 550 3« O0+1 vJ -130 8.0 42.0|10 45 3y N= 49 140 11.0 39.0

6 49 4v O+1 & -450 6.0 44.0|18 37 44 V= +8 -130 8.0 42.0|26 29 3y N= a9 140 11.0 39.0

8 47 4v O+1 & -450 6.0 44.0|23 32 34V +1l a5 -130 8.0 42054 1 3v N= 49 140 11.0 39.0
22 33 5v 0= *2 -450 6.0 44.0|30 25 34 V+1 45 -130 8.0 42.0| 8 47 4vy N-1 49 -50 4.0 46.0
28 27 4v O+1 &3 -450 6.0 44.0|44 11 24 O+2 43 -130 8.0 42.0|23 32 4y N-1 49 -50 4.0 46.0
3520 4v O+1 &2 -450 6.0 44054 1 34DV +1 45 -570 2.0 48.0|51 4 4vy N-1 49 -50 4.0 46.0

7 48 3INO+2 42 -460 0.0 50.0|10 45 3NDV +2 &5 -750 0.0 50.038 17 4vyDN-2 #A -300 0.0 50.0

- 31 219| - 31 219| - 31 21.9
4 4 KD10742 5 & KKn762 6 « D87
Vast v5 Nord v 1097 Ost v KKn83
Alla + K97 NS *7 ov + 10954

642 #KD53 D3
46 «E83 sE & D543 LY 4965
v1097643 v EKDKn2 vEKKn84 ¢3 v 9654 vE2
¢ D42 + E83 ¢ Knl098 ¢ EKA43 ¢ EKKNG63 ¢7
&ED7 K9 &E102 #9874 #3852 #EKn109764
& Kn9s #1098 & EKKNn1032
v8 v D652 v D107
+ Kn1065 + D652 + D82
#Kn10853 #Kn6 &K

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par Kontr Ut Res Poang
20 37 7v V-1 &K 100 48.0 2.0|27 30 5¢ O-1 8 50 49.0 1.0(29 28 44 S= *A 420 50.0 0.0
29 28 6NO-1 #3 100 48.0 2.0|45 12 6¢ V-1 &K 50 49.0 1.0| 8 49 34 S+1 ¢A 170 48.0 2.0
45 12 7v V-1 &K 100 48.0 2.0| 6 51 2¢ V= +5 90 46.0 4.0| 7 50 24 S+1 +A 140 46.0 4.0

1 3 4vV+2 aK -680 37.0 13.0| 7 50 3¢ V= &K -110 440 6.0|36 21 24 S= *A 110 440 6.0
10 47 4v V+2 &K -680 37.0 13.0|20 37 2NO= aT -120 420 80| 1 3 34S-1 +A -50 37.0 13.0
11 46 4v O+2 44 -680 37.0 13.0| 9 48 2 O +2 T -130 38.0 12.0|10 47 44 S-1 +A -50 37.0 13.0
14 43 49y O+2 & -680 37.0 13.0|19 38 2¢ V+2 7 -130 38.0 12.0|25 32 34 S-1 +A -50 37.0 13.0
16 41 4y V+2 &K -680 37.0 13.0(39 18 2¢ V+2 &K -130 38.0 12.0|27 30 34 S-1 +A -50 37.0 13.0
25 32 5v V+1 &K -680 37.0 13.0(36 21 2y V+1 &7 -140 34.0 16.0|39 18 34 S-1 &2 -50 37.0 13.0
53 4 4v V+2 &K -680 37.0 13.0| 1 3 3NO= aT -400 20.0 30.0|45 12 34 S-1 +A -50 37.0 13.0
54 2 5v O+1 K -680 37.0 13.0|10 47 3NO= aT -400 20.0 30.0|13 44 44 S-2 +A -100 26.0 24.0
52 5 64aDN-5 &K -1400 28.0 22.0 (13 44 3NO= aT -400 20.0 30.0|20 37 44 S-2 +A -100 26.0 24.0
6 51 6v O= *J -1430 13.0 37.0 (14 43 3NO= aT -400 20.0 30.0|31 26 44 S-2 +A -100 26.0 24.0
7 50 6v V= oK -1430 13.0 37.0(16 41 3NO= aT -400 20.0 30.0|42 15 44 S-2 +A -100 26.0 24.0
8 49 6v O= a5 -1430 13.0 37.0(23 34 3NO= 48 -400 20.0 30.0|53 4 44 S-2 +A -100 26.0 24.0
9 48 6v V= aK -1430 13.0 37.0|25 32 3NO = aT -400 20.0 30.0| 9 48 44 O+1 &A -150 15.0 35.0
13 44 6y V= oK -1430 13.0 37.0(29 28 3NV = vT -400 20.0 30.0 |11 46 44 O+1 &A -150 15.0 35.0
19 38 6v V= oK -1430 13.0 37.0(31 26 3NO= aT -400 20.0 30.0(14 43 44 O+1 &A -150 15.0 35.0
23 34 6vy O= 43 -1430 13.0 37.0(35 22 3NO= 48 -400 20.0 30.0(23 34 44 O+1 &A -150 15.0 35.0
27 30 6y V= oK -1430 13.0 37.0(42 15 3NO= aT -400 20.0 30.0(35 22 3 O+2 &A -150 15.0 35.0
31 26 6y V= oK -1430 13.0 37.0(52 5 3NO= aT -400 20.0 30.0|40 17 3 O+2 &A -150 15.0 35.0
3522 6y V= aK -1430 13.0 37.0|54 2 3NO= aT -400 20.0 30.0|54 2 54DS-3 +K -500 8.0 42.0
36 21 6y O= »J -1430 13.0 37.0| 8 49 24DN-2 +A -500 4.0 46.0|16 41 5# O= s A -600 5.0 45.0
39 18 6y V= oK -1430 13.0 37.0|11 46 24DN-2 7 -500 4.0 46.0|52 5 5#0-= aA -600 5.0 45.0
40 17 6v V= aK -1430 13.0 37.0|53 4 24DN-2 v7 -500 4.0 46.0| 6 51 54D O= #&A -750 1.0 49.0
42 15 6v V= oK -1430 13.0 37.0|40 17 1vyDN-4 ¢3 -1100 0.0 50.0|19 38 54D O = &K -750 1.0 49.0

- 33 22.7| - 33 22.7| - 33 22.7
7 4« Knl10862 8 & 76 9 « D964
Syd v5 Vast vYE7 Nord v 109865
Alla * K2 Ingen ¢+ EKKn1093 ov + D97

&EK942 #3843 &8
sE « D95 & K83 & Kn1095 K107 #EKn83
vKD872 vE vK1086 v52 vyKKn4 v73
¢ ED43 109875 + 852 + D64 ¢+E106 ¢Kn8
»875 #DKn106 #K95 #D1062 #DKn65 #E10743
& K743 & ED42 452
v Kn109643 v DKn943 vED2
¢ Kn6 7 ¢ K432
&3 SEKN7 #K92

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
46 13 4vDV -3 &A 800 50.0 0.0|21 38 3NN+3 ¢4 490 50.0 0.0| 950 44V-4 vT 400 50.0 0.0
1 5 3aDN= vA 730 450 50| 2 4 3NS+2 3 460 46.0 4.0|37 22 44 O-3 2 300 48.0 2.0
25 34 34aDN= vA 730 450 5.0(12 47 3NS+2 43 460 46.0 4.0(15 44 2v N= *J 110 46.0 4.0
28 31 34aDN= vA 730 450 5.0(41 18 3NS+2 43 460 46.0 4.0(41 18 2vy N-2 ¢J -100 43.0 7.0
36 23 34aDN= vA 730 450 5.0| 851 3NS+1 2 430 36.0 14.0|54 3 2vy N-2 ¢ -100 43.0 7.0
40 19 24DS= vK 670 40.0 10.0| 9 50 3NS+1 ¥8 430 36.0 14.0(11 48 24 O = *2 -110 39.0 11.0
8 51 4¢DV-2 &A 500 38.0 12.0(10 49 3NS+1 3 430 36.0 14.0(26 33 24 O = *2 -110 39.0 11.0
21 38 5¢ V-2 &A 200 36.0 14.0(20 39 3NS+1 3 430 36.0 140 2 4 34 0O+1 &5 -130 35.0 15.0
9 50 34 N= vA 140 34.0 16.0|25 34 3NS+1 &5 430 36.0 14.0(17 42 3 V+1l 7 -130 35.0 15.0
7 52 46 V-1 A 100 30.0 20.0(30 29 3NS+1 ¥2 430 36.0 140 1 5 14 O+2 45 -140 29.0 21.0
14 45 4¢ V-1 &A 100 30.0 20.0(37 22 3NS+1 &3 430 36.0 14.0 (12 47 24 O+1 &5 -140 29.0 21.0
20 39 5¢ V-1 &K 100 30.0 200 1 5 3NS= &5 400 15.0 35.0 (16 43 24 O+1 ©vA -140 29.0 21.0
2 4 44 N-1 ©vA -100 26.0 240| 7 52 3NS= v3 400 15.0 35.0|20 39 24 O+1 vQ -140 29.0 21.0
26 33 3¢ V+1 #A -130 23.0 27.0|11 48 3NS= v6 400 15.0 35.0|10 49 2¢ S-3 #0Q -150 22.0 28.0
32 27 4¢ V= A -130 23.0 27.0|14 45 3NS= &5 400 15.0 35.0|30 29 3y N-3 v2 -150 22.0 28.0
11 48 34aDN-1 vA -200 15.0 35.0|15 44 3NS= &5 400 15.0 35.0 (36 23 2v N- v3 -150 22.0 28.0
12 47 2v S-2 &A -200 15.0 35.0|16 43 3NS= v6 400 15.0 35.0| 7 52 24 O+2 &2 -170 18.0 32.0
15 44 34DN-1 vA -200 15.0 35.0|17 42 3NS= v6 400 15.0 35.0|14 45 3NV = »8 -600 16.0 34.0
17 42 44DN-1 vA -200 15.0 35.0|26 33 3NS= &5 400 15.0 350 8 51 3NV+1 T -630 10.0 40.0
30 29 2v S-2 &A -200 15.0 35.0|28 31 3NN= &2 400 15.0 35.0|28 31 3NO+1 9 -630 10.0 40.0
53 6 44DN-1 vA -200 15.0 35.0|32 27 3NS= &5 400 15.0 35.0|32 27 3NV+1 +¥8 -630 10.0 40.0
10 49 44DN-2 vA -500 4.0 46.0|36 23 3NS= &5 400 15.0 35040 19 3NV +1 T -630 10.0 40.0
16 43 44DN-2 vA -500 4.0 46.0|40 19 3NS= v6 400 15.0 35.0|53 6 3NV+1 T -630 10.0 40.0
37 22 44DN-2 vA -500 4.0 46.0|46 13 3NS= &5 400 15.0 35.0|25 34 3NV+2 T -660 4.0 46.0
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41 18 3¢ N-5 #Q -500 4.0 46.0|53 6 3NS= »5 400 15.0 21 38 3NDV= ¥5 -750 2.0 48.0
54 3 44DN-2 vA -500 4.0 46.0|54 3 4vS-2 +8 -100 0.0 46 13 INDS-5 5 -1100 0.0 50.0
- 35 254 - 35 - 35 5.4
10 « EDKn109 11 & Kn642 12 4 K853
Ost v K1094 Syd v 752 Vast vD10
Alla ¢ 72 Ingen + ED9 NS + ED987
42 #954 #Kn9
4 K73 454 « E753 & K108 492 4 Knl074
v 87 v ED63 v Kn1064 v K983 v Kn96 v 854
+ Kn864 ¢ 10953 ¢ 102 + Kn83 + K + 10654
#K863 D109 #EKn7 #KD3 #EK106532 #74
# 862 «D9 « ED6
v Kn52 vED v EK732
¢ EKD ¢ K7654 ¢ Kn32
&#EKN75 £10862 D8
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res
8 53 3NS+2 8 660 450 5.0| 8 53 INDS= v6 180 50.0 0.0|42 19 54DV -4 45 800 50.0 0.0
10 51 3NS+2 46 660 450 50| 952 4v V-2 +A 100 48.0 2.0|16 45 3NS+3 &5 690 470 3.0
21 40 3NS+2 8 660 450 50| 2 6 INS= v6 90 42,0 8.0|41 20 BNS+3 49 690 47.0 3.0
42 19 3NS+2 46 660 45,0 5.0|12 49 INN= &K 90 42.0 8.0|12 49 4y S+1 &A 650 37.0 13.0
44 17 3NN+2 3 660 450 5.0|21 40 INS= vJ] 90 420 8.0|13 48 4y S+1 &A 650 37.0 13.0
54 4 3NS+2 8 660 450 5.0|38 23 INS= v6 90 42.0 8.0|21 40 4v S+1 &A 650 13.0
1 7 44 S+1 45 650 33.0 17.0|44 17 2¢ N= *T 90 42.0 8.0|22 39 4y S+1 &A 650 13.0
9 52 44 N+1 6 650 330 17.0| 1 7 3vV-1 &4 50 30.0 20.0|25 36 4y S+1 &A 650 13.0
15 46 44 N+1 &5 650 330 170 3 5 3NO-1 &Q 50 30.0 20.0|29 32 4y S+1 &A 650 .0 13.0
25 36 44 N+1 ¢5 650 33.0 17.0|11 50 3v O-1 ¢2 50 30.0 20.0 |47 14 4y S+1 &A 650 .0 13.0
33 28 44 N+1 T 650 33.0 17.0|25 36 3y O-1 +¢5 50 30.0 20.0|54 4 4y S+1 &A 650 .0 13.0
47 14 44 S+1 46 650 33.0 17.0|27 34 4v O-1 & 50 30.0 20.0| 9 52 44 N= »7 620 .0 25.0
13 48 4y N= +5 620 23.0 27.0|31 30 INO-1 ¢4 50 30.0 20.0 |10 51 44 N= *7 620 .0 25.0
22 39 44 S= v2 620 23.0 27.0|47 14 3v O-1 +¢3 50 30.0 20.0|15 46 44 N= *9 620 .0 25.0
26 35 44 S= v8 620 23.0 27.0|29 32 24 N-2 &K -100 21.0 29.0|44 17 4y N= A 620 .0 25.0
27 34 44 S= *6 620 230 27.0|54 4 34S-2 vJ] -100 21.0 29.0|27 34 5¢ N= *7 600 .0 33.0
2 6 3NS= v8 600 11.0 39.0 (13 48 2y O = *4 -110 14.0 36.0|31 30 5¢ N= A 600 .0 33.0
3 5 3NS= v8 600 11.0 39.0 (16 45 2v O= *6 -110 14.0 36.0|33 28 5¢ N= »7 600 .0 33.0
11 50 3NS= *2 600 11.0 39.0(26 35 2v V= a4 -110 14.0 36.0 |38 23 5¢ N= *7 600 .0 33.0
12 49 3NS= v8 600 11.0 39.0|41 20 2v O = *6 -110 14.0 36.0|11 50 3v S+2 &A 200 11.0 39.0
16 45 3NS= v8 600 11.0 39.0(42 19 2v V= *4 -110 14.0 36.0|18 43 3v S+2 &A 200 11.0 39.0
18 43 3NS= *7 600 11.0 39.0(10 51 3v O= *6 -140 4.0 46.0| 3 5 34 N+1 &7 170 8.0 42.0
29 32 3NS= v8 600 11.0 39.0 (15 46 3v O= +Q -140 4.0 46.0| 2 6 3¢ N+2 &7 150 6.0 44.0
41 20 3NS= »6 600 11.0 39.0 |18 43 3v V= *A -140 4.0 46.0| 1 7 5vS-1 &A -100 3.0 47.0
31 30 24 S+3 +¢5 200 1.0 49.0|22 39 3v O = 2 -140 4.0 46.0|26 35 5¢ N-1 &7 -100 3.0 47.0
38 23 24 N+3 +4 200 1.0 49.0|33 28 3v O = +Q -140 4.0 46.0| 8 53 3NS-3 &A -300 0.0 50.0
37 - 23.8 37 - 23.8 37 - 23.8
13 « Kn75 14 « D1098753 15 « EKn432
Nord v KKn543 Ost vD4 Syd v Kn6
Alla ¢ 8742 Ingen + D109 NS * K7
*6 &6 #EKn107
494 4 D832 462 & K 4D1096 &7
v 762 vD9 v Kn97 v EK10852 v 753 v E10942
¢+ ED1095 ¢ K6 ¢ 65 ¢ E43 ¢+ D2 ¢ 10654
#KD2 #EKN1097 #EK10985 #Kn72 #8432 &D95
+ EK106 « EKn4 & K85
vE108 v63 vKD8
¢+ Kn3 ¢ KKn872 + EKn983
#8543 #D43 K6
Par  Kontr Ut Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res g
14 49 24D S +1 &A 870 500 0.0| 4 6 44DN= ¢vA 590 500 0.0| 2 8 3NS+3 7 690 0.0
4 6 3NV-5 v4 500 48.0 2.0|17 46 44 N+1 ©vA 450 48.0 2.0|28 35 44 N+2 &2 680 3.0
38 25 3NO-4 #A 400 450 5.0|14 49 34 N= vA 140 46.0 4.0|32 31 54 N+1 2 680 3.0
48 15 3NV-4 ¢33 400 450 5.0|12 51 5vDO-1 4A 100 43.0 7.0|30 33 3NS+2 49 660 7.0
3 7 3NV-3 3 300 42,0 8.0|13 50 5vDO-1 4A 100 43.0 7.0|54 5 3NS+2 w7 660 7.0
2 8 44D O-1 #A 200 38.0 120| 9 1 44 N-1 vA -50 37.0 13.0| 3 7 44 S+1 7 650 26.0
26 37 INV-2 3 200 38.0 12.0|30 33 44 N-1 ¥vA -50 37.0 13.0| 4 6 44 S+1 3 650 26.0
32 31 INO-2 oA 200 38.0 12.0|38 25 44 N-1 vA -50 37.0 13.0| 9 1 54 N= vA 650 26.0
13 50 24 N+2 &K 170 34.0 16.0|48 15 44 N-1 YA -50 37.0 13.0 (13 50 44 S+1 3 650 26.0
30 33 3vy N= + K 140 32.0 180| 2 8 44DN-1 vA -100 29.0 21.0|14 49 44 S+1 &3 650 26.0
28 35 24 N= &K 110 30.0 20.0|11 52 44DN-1 vA -100 29.0 21.0|16 47 44 S+1 *3 650 26.0
17 46 54 O-1 &A 100 27.0 23.0|16 47 44DN-1 vA -100 29.0 21.0|17 46 44 S+1 ¥3 650 26.0
45 18 54 O-1 &4 100 27.0 23.0|45 18 44DN-1 vA -100 29.0 21.0(|22 41 44 S+1 ¥2 650 26.0
11 52 3+ 0= vA -110 20.0 30.0|27 36 54DN-2 vA -300 22.0 28.0(23 40 44 S+1 &3 650 26.0
12 51 3+ 0= s A -110 20.0 30.0(32 31 54DN-2 ¢K -300 22.0 28.0|26 37 44 S+1 ¢Q 650 26.0
16 47 3+ O = s A -110 20.0 30.0|54 5 54DN-2 ¢K -300 22.0 28.0|27 36 44 S+1 ¥5 650 26.0
19 44 34 0= aA -110 200 300| 3 7 4vO= 2 -420 16.0 34.0(34 29 44 S+1 v3 650 26.0
43 20 34 0= »5 -110 20.0 30.0(|22 41 4y O= s A -420 16.0 34.0(38 25 44 N+1 v2 650 26.0
9 1 3#0+1 +6 -130 12.0 38.0|28 35 4y O = 2 -420 16.0 34.0|42 21 44 S+1 ¢3 650 26.0
22 41 340 +1 &2 -130 12.0 38.0|10 53 4v O+1 ¥6 -450 10.0 40.0 |43 20 54 S= 3 650 26.0
23 40 3¢ V+1 &6 -130 12.0 38.0(|26 37 4y O+1 &A -450 10.0 40.0 |45 18 44 S+1 ¥3 650 26.0
54 5 2NO+3 4A -210 8.0 42.0(34 29 4v O+1 ¢3 -450 10.0 40.0 |48 15 54 S= +Q 650 26.0
27 36 SNO+1 &A -630 4.0 46.0|19 44 5y O+1 &A -480 5.0 45.0|11 52 3NS+1 49 630 44.0
3429 3NO+1 4 -630 4.0 46.0(|23 40 4v O+2 ¥v6 -480 5.0 45.0(12 51 6NS-2 v7 -200 47.0
42 21 3NO+1 &A -630 4.0 46.0(43 20 4vDO +3 ¢5 -890 2.0 48.0|19 44 3NS-2 49 -200 47.0
10 53 3NO+2 &A -660 0.0 50.0(|42 21 6y O= s A -980 0.0 50.0|10 53 6NS-3 v7 -300 50.0
39 - 24.4 39 - 24.4 39 -
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16 « EK1094 17 « K108 18 « EK3
Vast v EK4 Nord v 8742 Ost v K975
oV ¢ EK42 Ingen + Kn1073 NS +E9
&4 &E3 &K542
463 a7 49642 453 « D95 4 Kn10762
v 1083 v Kn952 vE1096 v¥K53 vED6432 vKnl0
+Kn76 ¢ D9853 +54 + KD62 ¢ 62 + K104
&#EK532 #1096 &#KD6 &#Kn752 &76 &#Kn93
& DKn852 & EDKn7 4384
v D76 v DKn v8
+10 + E98 ¢+ DKn8753
»DKn87 10984 »ED108
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 9 64 N= &T 980 27.0 23.0(39 26 INS+2 v9 150 50.0 0.0(17 48 3NDN+1 vJ 950 50.0 0.0
4 8 64 S= &K 980 27.0 23.0(10 2 INN+1 ¥3 120 35.0 15.0(10 2 3NN+2 vJ 660 420 8.0
5 7 64 N= &T 980 27.0 23.0|12 53 INS+1 ¥9 120 35.0 15011 1 3NN+2 vJ 660 420 8.0
10 2 64 N= a7 980 27.0 23.0(13 52 INN+1 &3 120 35.0 15.0(12 53 3NN +2 &2 660 420 8.0
11 1 64 N= &T 980 27.0 23.0(18 47 INS+1 &4 120 35.0 15.0(15 50 3NN +2 vJ 660 420 8.0
12 53 64 N= &T 980 27.0 23.0|20 45 INS+1 ¥9 120 35.0 15.028 37 4NN+1 vJ 660 420 8.0
13 52 64 N= &T 980 27.0 23.0(27 38 INN+1 &5 120 35.0 15.0(33 32 3NN+2 vJ 660 420 8.0
14 51 64 N= &T 980 27.0 23.0(28 37 INN+1 &K 120 35.0 15.0(44 21 3NN+2 vJ 660 420 8.0
15 50 64 N= +8 980 27.0 23.0(31 34 2NS= v5 120 35.0 150 5 7 3NN+1 vJ 630 23.0 27.0
17 48 64 S= &A 980 27.0 23.0(33 32 INN+1 &5 120 35.0 15.0(13 52 3NN+1 vJ 630 23.0 27.0
18 47 64 N= &T 980 27.0 23.0(35 30 INS+1 &6 120 35.0 15.0(14 51 3NN+1 vJ 630 23.0 27.0
20 45 64 N= &T 980 27.0 23.0|143 22 INS+1 4 120 35.0 15.018 47 3NN+1 vJ 630 23.0 27.0
23 42 64 N= &T 980 27.0 23.0(46 19 INN+1 &5 120 35.0 15.0(23 42 3NN+1 vJ 630 23.0 27.0
28 37 64 N= &6 980 27.0 23.0(49 16 INN+1 &6 120 35.0 15.0(27 38 3NN+1 vJ 630 23.0 27.0
29 36 64 S= &A 980 27.0 23.0|154 6 INS+1 4 120 35.0 15.0(29 36 3ANN+1 vJ 630 23.0 27.0
31 34 64 N= +8 980 27.0 23.0(14 51 24 N= +5 110 18.0 32.0 (35 30 4NN= vJ 630 23.0 27.0
33 32 64 N= +3 980 27.0 23.0 |17 48 24 N= a5 110 18.0 32.0(39 26 3NN+1 vJ 630 23.0 27.0
35 30 64 S= &K 980 27.0 23.0|23 42 24 S= &K 110 18.0 32.0(40 25 3NN+1 vJ 630 23.0 27.0
39 26 64 S= &A 980 27.0 230 5 7 3&0-2 vJ 100 14.0 36.0 (43 22 3NN+1 vJ 630 23.0 27.0
40 25 64 N= &T 980 27.0 23.0(15 50 INS= a4 90 11.0 39.0(49 16 3NN+1 vJ 630 23.0 27.0
43 22 64 N= &T 980 27.0 23.0(40 25 INS= v9 90 11.0 39.0| 3 9 3NN= vJ 600 8.0 42.0
44 21 64 N= a3 980 27.0 23.0( 3 9 INN-1 ¢3 -50 5.0 45.0|20 45 3NN= vJ 600 8.0 42.0
46 19 64 N= &T 980 27.0 23.0( 4 8 2NS-1 &K -50 5.0 45.0|46 19 5¢ S= &7 600 8.0 42.0
49 16 64 N= &6 980 27.0 23.0(11 1 24 S-1 +6 -50 5.0 45.0|54 6 3vDV-3 &A 500 4.0 46.0
27 38 44 N+2 &7 480 1.0 49.0(29 36 2NS-1 &K 50 5.0 450| 4 8 4¢ S+1 &7 150 2.0 48.0
54 6 54 N+1 v5 480 1.0 49.0(44 21 34 N-2 +3 -100 0.0 50.0|31 34 6¢ S-1 ¥vA -100 0.0 50.0
- 41 236 - 41 236 - 41 23.6
19 « EK8754 20 & Kn652 21 « EK10843
Syd v 106 Vast vE Nord vKn74
oV ¢ EKKn Alla ¢ 10543 NS +43
107 &#Kn532 &85
«#DKn93 «10 #E10974 &K83 49 & Kn762
vDKn7 vE84 v D96 v K87 v EKD9 v53
+ 104 + 875 ¢ E7 + KDKn62 + D9 + E107652
&#K543  #EKn9862 &ED9 74 &#DKn9643 %2
462 oD & D5
v K9532 v Kn105432 v 10862
+ D9632 +98 ¢ KKn8
D »K1086 SEK107
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 52 34DN= oT 530 490 1.0| 4 10 64 V-1 vA 100 50.0 0.0(13 1 64DV-4 &A 800 50.0 0.0
28 39 34aDN= 46 530 490 1.0(28 39 3INO+1 2 -630 47.0 3.0(|29 38 54DV -3 &A 500 48.0 2.0
11 3 34 N+1 &A 170 46.0 4.0|54 7 3NV+l ¢4 -630 47.0 3.0|30 37 4¢DO-2 &A 300 46.0 4.0
6 8 24 N+1 &A 140 36.0 140 5 9 464 O+1 ©vA -650 35.0 15.0|50 17 4v V-3 &A 150 440 6.0
16 51 34 N= &A 140 36.0 14.0(12 2 464 V+1 ¢4 -650 35.0 15.0| 5 9 24 N= &2 110 41.0 9.0
25 42 34 N= +8 140 36.0 14.0 (14 53 54 V= *4 -650 35.0 15.0(|41 26 24 S= vA 110 41.0 9.0
29 38 34 N= &A 140 36.0 14.0(18 49 464 V+1 ©vA -650 35.0 15.0| 6 8 3¢DO-1 &A 100 34.0 16.0
34 33 34 N= &A 140 36.0 14.0(34 33 464 V+1 ©vA -650 35.0 15.0(16 51 34 V-2 &A 100 34.0 16.0
36 31 34 N= &A 140 36.0 14.0|41 26 44 V+1 ¢4 -650 35.0 15.0|19 48 4¢DO-1 #A 100 34.0 16.0
40 27 24 N+1 5 140 36.0 14.0(44 23 464 O+1 2 -650 35.0 15.0(32 35 34DV -1 4A 100 34.0 16.0
44 23 24 N+1 3 140 36.0 14.0 (45 22 464 V+1 ©vA -650 35.0 15.0|36 31 4¢DO-1 &A 100 34.0 16.0
54 7 29 N+1 T 140 36.0 14.0|47 20 44 V+1 ¢4 -650 35.0 15.0|14 53 3 V-1 &A 50 26.0 24.0
5 9 1aN+1 +¢6 110 24.0 26.0 (50 17 44 O+1 ¥3 -650 35.0 15.0|40 27 3 V-1 &A 50 26.0 24.0
13 1 3¢ S= T 110 240 26.0| 6 8 3NV +2 &5 -660 12.0 38.0|45 22 4¢ O-1 «Q 50 26.0 24.0
14 53 2v N= T 110 240 26.0(11 3 3NV+2 a2 -660 12.0 38.0|25 42 3NS-1 vA -100 20.0 30.0
18 49 5¢ S-1 «Q -50 15.0 35.0(13 1 3NV+2 &2 -660 12.0 38.0|34 33 34 S-1 ¥vA -100 20.0 30.0
19 48 4v S-1 &Q -50 15.0 35.0(15 52 3NV +2 &5 -660 12.0 38.0|44 23 34 N-1 ¢3 -100 20.0 30.0
30 37 44 N-1 &A -50 15.0 35.0(16 51 3NV +2 &5 -660 12.0 38.0|15 52 3¢ O = &Q -110 16.0 34.0
32 35 44 N-1 &A -50 15.0 35.0(19 48 3NV +2 45 -660 12.0 38.0|54 7 3¢ O+2 «Q -150 14.0 36.0
41 26 44 N-1 #A -50 15.0 35.0 (21 46 3NV +2 &5 -660 12.0 38.0| 4 10 24D N-1 &2 -200 7.0 43.0
50 17 34 N-1 ¢5 -50 15.0 35.0(25 42 3NV +2 43 -660 12.0 38.0|11 3 44 N-2 &7 -200 7.0 43.0
21 46 44 N-2 oT -100 7.0 43.0(29 38 3NV +2 45 -660 12.0 38.0|18 49 34D N-1 &2 -200 7.0 43.0
45 22 5¢ N-2 #A -100 7.0 43.0|30 37 3NO+2 3 -660 12.0 38.0|21 46 3v S-2 49 -200 7.0 43.0
410 3 O+1 46 -130 4.0 46.0|32 35 3NV +2 &5 -660 12.0 38.0|28 39 34DN-1 vA -200 7.0 43.0
12 2 44DO= 46 -710 2.0 48.0|36 31 3NV +2 &5 -660 12.0 38.0|47 20 34 S-2 vA -200 7.0 43.0
47 20 34D O +1 ¢A -870 0.0 50.0|40 27 3NV +2 &2 -660 12.0 38.0|12 2 3NS-3 vA -300 0.0 50.0
- 43 26.5| - 43 26.5| - 43 26.5
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22 & Kn109742 23 3 24 a-
Ost v 85 Syd v9 Vast v 98653
ov + 104 Alla + K1098432 Ingen ¢ ED52
#K83 *E864 #E942
«KD 4 E865 » 864 4E95 «D1098763 «EK4
v Kn97 v42 vKD8  v1065432 vE10 v D742
+ D6 ¢ EK9732 ¢Kn76 ¢ D5 ¢1043 +76
#ED9765 &2 #Kn952 #103 »6 «D1073
3 « KDKn1072 « Kn52
v EKD1063 v EKn7 v KKn
¢ Kn85 ¢E ¢ KKn98
#Kn104 #KD7 #KKn85
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
42 27 64 O-3 ©vA 300 49.0 1.0(13 3 64 S= 3 1430 49.0 1.0( 6 10 44DV -2 #A 300 49.0 1.0
54 8 4e4V-3 v8 300 49.0 1.0(25 44 64 S= vK 1430 49.0 1.0(46 23 44D O -2 «2 300 49.0 1.0
12 4 3NO-2 +vQ 200 36.0 15.0| 5 11 44 S+2 3 680 29.0 21.0|51 18 4¢ S= 5 130 46.0 4.0
13 3 3NV-2 vQ 200 36.0 150 6 10 44 S+2 vK 680 29.0 21.0( 7 9 44DV-1 #A 100 38.0 12.0
14 2 3NV-2 8 200 36.0 150 7 9 54 S+1 vK 680 29.0 21.0(14 2 44 V-2 v3 100 38.0 12.0
17 52 3NV-2 ¢8 200 36.0 15.0(12 4 44 S+2 K 680 29.0 21.0(20 49 44DV-1 v¥9 100 38.0 12.0
19 50 5¢ O-2 K 200 36.0 15.0(14 2 44 S+2 vK 680 29.0 21.0 (22 47 44DV-1 v3 100 38.0 12.0
25 44 3NV-2 v8 200 36.0 15.0(15 1 44 S+2 a2 680 29.0 21.0(37 32 44DV-1 v9 100 38.0 12.0
29 40 5¢ O-2 YA 200 36.0 15.0(16 53 44 S+2 v¥K 680 29.0 21.0(48 21 44DV-1 3 100 38.0 12.0
33 36 4¢ O-2 YA 200 36.0 15.0 (17 52 44 S+2 vK 680 29.0 21.0(54 8 44DV-1 +A 100 38.0 12.0
37 32 3NV-2 v8 200 36.0 15.0(19 50 44 S+2 +6 680 29.0 21.0(13 3 44 V-1 ¢Q 50 29.0 21.0
48 21 5¢ O-2 vK 200 36.0 15.0(20 49 44 S+2 +6 680 29.0 21.0(15 1 44 V-1 ¥9 50 29.0 21.0
51 18 5¢ O-2 YA 200 36.0 15.0 (22 47 44 N+2 &2 680 29.0 21.0(29 40 4¢ S-1 %6 -50 25.0 25.0
7 9 56 0-1 vA 100 18.0 33.0(29 40 44 S+2 ¢K 680 29.0 21.0 (41 28 54 N-1 &K -50 25.0 25.0
15 1 46 0-1 ©vA 100 18.0 33.0 (30 39 44 S+2 vK 680 29.0 21.0(33 36 G# N-2 &7 -100 22.0 28.0
20 49 5¢ O-1 ¥K 100 18.0 33.0(33 36 44 N+2 ¢K 680 29.0 21.0( 5 11 34 V= v9 -140 18.0 32.0
26 43 5¢ O-1 YA 100 18.0 33.0(35 34 44 S+2 ¥K 680 29.0 21.0 (16 53 34 V= v9 -140 18.0 32.0
30 39 5¢ O-1 vK 100 18.0 33.0 (41 28 44 S+2 vK 680 29.0 21.0|17 52 34 V= *A -140 18.0 32.0
3138 5¢ O-1 ¢K 100 18.0 33.0 (48 21 44 S+2 vK 680 29.0 21.0(26 43 5v N-3 K -150 14.0 36.0
6 10 3¢ O= YA -110 10.0 40.0|51 18 44 S+2 K 680 29.0 21.0(19 50 3NS-4 a7 -200 11.0 39.0
16 53 4¢ O= YA -130 7.0 43.0(|42 27 3NS+2 v¥K 660 10.0 40.0(30 39 3NS-4 &9 -200 11.0 39.0
3534 3¢ O+1 YA -130 7.0 43.0|31 38 44 S+1 44 650 8.0 42.0|25 44 44 N-6 4A -300 8.0 42.0
511 5¢ 0= vK -600 3.0 47.0|37 32 64 N-1 ¢3 -100 6.0 44.0|31 38 34DV= 3 -530 5.0 45.0
22 47 5¢ O= YA -600 3.0 47.0|26 43 6NS-2 ¥K -200 3.0 47.0|42 27 34DV= ¥9 -530 5.0 45.0
46 23 5¢ O+1 ©vA -620 0.0 50.0|54 8 7¢ N-2 &A -200 3.0 47.0|35 34 44DV= <A -590 2.0 48.0
45 - 26.7 46 23 6#S-3 vK -300 0.0 50.0|12 4 44DO+1 vK -690 0.0 50.0
41 28 +100/+200 18.0 15.0 (45 - 26.7 45 - 26.7
25 « Knl103 26 « DKn854 27 443
Nord vE54 Ost v94 Syd v Kn62
oV 49842 Alla ¢ E6G3 Ingen ¢ 654
#ES53 #985 #K9874
4854 4 EKD6 4103 4 K72 4E1082 4976
vKnl102  vKD763 vE62 v KKn753 vEK985 vD74
+ EK10 ¢ 65 ¢ KD85 41092 ¢ Kn9 ¢ K832
#DKn109 #86 #EDKNn3 #102 53 #EKn6
4972 « E96 « KDKn5
v 98 vD108 v 103
¢ DKn73 ¢ Kn74 ¢ ED107
*K742 *K764 D102
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
13 5 2v0+2 +Q -170 48.0 20|17 1 3NO-2 6 200 490 1.0(16 2 24V-3 44 150 50.0 0.0
26 45 2v O+2 #4 -170 48.0 2.0|30 41 3NV-2 «Q 200 49.0 1.0(20 51 3« N-= v4 110 47.0 3.0
54 9 2y V+2 v9 -170 48.0 20|13 5 INV-1 «Q 100 45.0 5.0(30 41 3&#N= v4 110 47.0 3.0
7 11 INV+3 & -180 440 6.0|15 3 4v V-1 &9 100 45.0 5.0(26 45 4y V-2 #4 100 440 6.0
27 44 INO+4 ¢9 -210 410 9.0|52 19 INV= a4 90 420 8017 1 4v0O-1 3 50 39.0 11.0
30 41 INV+4 &) -210 410 9.0)|20 51 2v V= +Q -110 36.0 14.0|32 39 3v V-1 ¢4 50 39.0 11.0
6 12 4y O= v9 -620 26.0 24.0|21 50 2v V= 3 -110 36.0 14.0|36 35 3v V-1 &3 50 39.0 11.0
8 10 4v 0= ¢7 -620 26.0 24.0|26 45 2v V= &5 -110 36.0 14.0(|43 28 3y V-1 44 50 39.0 11.0
14 4 4v 0= &3 -620 26.0 24.0|42 29 2v V= +Q -110 36.0 14.0| 8 10 INS-1 vA -50 33.0 17.0
15 3 4v 0= ¢7 -620 26.0 24.0|43 28 2v V= «Q -110 36.0 14.0|52 19 3& N-1 &2 -50 33.0 17.0
16 2 4v0= v9 -620 26.0 24.0|31 40 INV+1 &4 -120 30.0 20.0| 7 11 2v V= 3 -110 23.0 27.0
17 1 49 0= +Q -620 26.0 24.0| 6 12 2v V+1 &Q -140 17.0 33.0|13 5 2v V= *4 -110 23.0 27.0
18 53 4v 0= v8 -620 26.0 24.0| 7 11 2v V+1 &Q -140 17.0 33.0(|14 4 2v 0= T -110 23.0 27.0
21 50 4y O= +Q -620 26.0 24.0| 8 10 2¢v V+1 v4 -140 17.0 33.0|15 3 2v V= *4 -110 23.0 27.0
23 48 4v 0= v9 -620 26.0 24.0|14 4 2vV+1 &Q -140 17.0 33.0|27 44 2y V= v2 -110 23.0 27.0
3140 49 0= ¢Q -620 26.0 24.0|16 2 3v V= «Q -140 17.0 33.0|31 40 2v V= *4 -110 23.0 27.0
36 35 4v O= v9 -620 26.0 24.0|18 53 2v O+1 &6 -140 17.0 33.0(34 37 2v V= a4 -110 23.0 27.0
38 33 4e V= 43 -620 26.0 24.0|23 48 2v V+1 v4 -140 17.0 33.0|38 33 2v O= v2 -110 23.0 27.0
42 29 4v O= v9 -620 26.0 24.0|27 44 2v V+1 «Q -140 17.0 33.0| 6 12 2¢v V+1 v2 -140 7.0 43.0
46 25 3NV +1 4] -630 12.0 38.0(32 39 2v V+1 4Q -140 17.0 33.0|18 53 2v O+1 ¥3 -140 7.0 43.0
32 39 4y O+1 &2 -650 6.0 44.0|34 37 2v V+1 &Q -140 17.0 33.0|21 50 2v O+1 #Q -140 7.0 43.0
34 37 4vy O+1 +Q -650 6.0 44.0|36 35 2v V+1 4Q -140 17.0 33.0|23 48 3v V= a4 -140 7.0 43.0
43 28 4v O+1 +Q -650 6.0 44.0146 25 2y V+1 &Q -140 17.0 33.0(42 29 2v O+1 T -140 7.0 43.0
49 22 4v O+1 42 -650 6.0 44.0|38 33 INV+2 &2 -150 4.0 46.0|46 25 2v V+1 ¢4 -140 7.0 43.0
52 19 4v O+1 +Q -650 6.0 44.0|54 9 3v O+1 oA -170 2.0 48.0|49 22 3y V= a4 -140 7.0 43.0
20 51 3NV+2 ¢4 -660 0.0 50.0 {49 22 3NV = a2 -600 0.0 50.0|54 9 2vV+1l v2 -140 7.0 43.0
47 - 25.2 47 - 25.2 47 - 25.2
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28 « D92 29 » K842 30 4 9865
Vast v DKn10872 Nord v 32 Ost v93
NS + Kn6 Alla ¢ EKn7 Ingen + D762
£107 &EDKn7 £KD2
4 KKn3 410654 « EKN53 4107 «D73 « EKn10
v K4 v 63 vKKn84 v D1095 vED10865 v4
¢ E852 ¢ K104 + 108 + D532 ¢ Kn5 + EK43
&#EKN85 #KD92 &K95 #1042 #105 #EB8764
« E87 « D96 & K42
v E95 vE76 v KKn72
+ D973 + K964 41098
#643 #3863 #Kn93
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
32 41 3NV-3 vQ 150 50.0 0.0(27 46 3NN+1 T 630 490 10|14 6 3NO-2 T 100 450 5.0
22 51 2v S= A 110 48.0 2.0(35 38 3NN+1 T 630 49.0 1019 1 3NO-2 T 100 45.0 5.0
27 46 3NV-2 vQ 100 45,0 5.0|31 42 3NN= v3 600 46.0 4.0|22 51 2NV -2 &2 100 45.0 5.0
31 42 3NV-2 vQ 100 450 5.0(22 51 2¢DO-2 v2 500 440 6.0|32 41 3NO-2 42 100 450 5.0
15 5 3NV-1 vQ 50 39.0 11.0(17 3 INN+4 +¢3 210 40.0 10.0(44 29 3NO-2 T 100 450 5.0
17 3 2NV-1 ¢Q 50 39.0 11.0|44 29 2NN +3 &T 210 40.0 10.0|54 10 3¢ O-2 T 100 45.0 5.0
21 52 3NV-1 vQ 50 39.0 11.0|54 10 INN+4 #4 210 40.0 10.0|18 2 3NO-1 T 50 33.0 17.0
37 36 3NV-1 vQ 50 39.0 11.0(15 5 2¢vDO-1 v6 200 35.0 15.0(27 46 3NO-1 2 50 33.0 17.0
16 4 INV= vQ -90 27.0 23.0(21 52 2v O-2 &3 200 35.0 15.0|28 45 3NO-1 +¢Q 50 33.0 17.0
28 45 INO= vT -90 27.0 23.0(16 4 INN+3 T 180 30.0 20.0|31 42 3NO-1 ¢7 50 33.0 17.0
44 29 INO= vQ 90 27.0 23.0(19 1 2NN+2 ¢3 180 30.0 20.0 (47 26 3NO-1 v2 50 33.0 17.0
47 26 INO= vQ -90 27.0 23.0(37 36 2NN+2 ¥9 180 30.0 20.0|53 20 BNO-1 T 50 33.0 17.0
48 25 1INV = vQ 90 27.0 23.0( 8 12 INN+2 &T 150 24.0 26.0|33 40 2NO = a2 -120 26.0 24.0
50 23 INV= vQ 90 27.0 23.0(32 41 2NN+1 3 150 240 26.0| 7 13 2v O+1 T -140 21.0 29.0
53 20 INV= vQ -90 27.0 23.0(47 26 2NN+1 ¥9 150 240 26.0| 8 12 2v O+1 T -140 21.0 29.0
54 10 INV= vQ 90 27.0 23.0(28 45 3« N+1 &T 130 20.0 30.0(16 4 2vV+1l &K -140 21.0 29.0
19 1 3vS-1 +¢5 -100 18.0 32.0| 7 13 INS+1 v4 120 11.0 39.0|48 25 2v V+1 46 -140 21.0 29.0
8 12 INV+1l ¢Q -120 10.0 40.0|14 6 2NN= v5 120 11.0 39.0(17 3 2vV+2 46 -170 16.0 34.0
9 11 INV+1l ¢Q -120 10.0 40.0|18 2 2NN= v9 120 11.0 39.0( 9 11 3NO= *T -400 7.0 43.0
14 6 2NV= vQ -120 10.0 40.0|33 40 2NN = v9 120 11.0 39.0(15 5 3NO= &3 -400 7.0 43.0
18 2 INV+1 vQ -120 10.0 40.0|39 34 INN+1 ¥9 120 11.0 39.0 (21 52 3NO= a2 -400 7.0 43.0
3340 INO+1 T -120 10.0 40.0|48 25 2NN = v9 120 11.0 39.0 (35 38 3NO= a2 -400 7.0 43.0
3538 INV+1 vQ -120 10.0 40.0|50 23 INN+1 ¢5 120 11.0 39.0 (37 36 3NO= T -400 7.0 43.0
43 30 INV+1 ¢Q -120 10.0 40.0|53 20 INN+1 ¥5 120 11.0 39.0(39 34 3NO= v2 -400 7.0 43.0
39 34 INV+2 vQ -150 2.0 480 911 2¢ O-1 v6 100 2.0 48.0(43 30 3NO= v2 -400 7.0 43.0
7 13 3NV= v7 -400 0.0 50.0|43 30 3NN-1 v9 -100 0.0 50.0|50 23 3NV= a5 -400 7.0 43.0
- 49 252 - 49 252 - 49 25.2
31 4« DKn 32 484 33 « E64
Syd vE74 Vast v KD85 Nord vD107
NS ¢ Kn107 ov ¢ EKn852 Ingen ¢ Kn10642
&EK1032 &K7 &E2
4 EK76543 410 4Knl093 «D7 4 K10983 4 Kn72
v D86 v 1095 vKnl09 vE64 v KKn8 v43
+ K62 + ED9853 + 109 + KD63 + K95 + ED7
&- #DKn7 #10654 #ED93 #43 #K10876
4982 « EK652 «D5
v KKn32 v732 v E9652
*4 ¢ 74 483
£98654 #Kn82 #DKn95
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
18 4 3¢ O+2 ¢3 -150 49.0 10|36 39 3#V-1 48 100 500 0.0(18 4 3v S= 49 140 50.0 0.0
22 53 3¢ O+2 &4 -150 49.0 1.0|45 30 INN= &*A 90 48.0 2.0|29 46 2v S= LY 110 480 20
8 14 34 V+1 &A -170 40.0 10.0|15 7 24 S-1 vJ -50 41.0 9.0|49 26 Pass 46.0 4.0
19 3 24 V+2 #A -170 40.0 10.0|18 4 24 S-1 vJ -50 41.0 9.0| 9 13 3vy S-1 49 -50 41.0 9.0
25 50 34 V+1 &A -170 40.0 10.0|19 3 24 S-1 ¢T -50 41.0 9.0|28 47 3v N-1 49 -50 41.0 9.0
29 46 24 V+2 &A -170 40.0 10.0|20 2 24 S-1 &7 -50 41.0 9.0|36 39 4v S-1 49 -50 41.0 9.0
36 39 34 V+1 &A -170 40.0 10.0|28 47 24 N-1 4] -50 41.0 9.0|38 37 3vy S-1 49 -50 41.0 9.0
38 37 34 V+1 &A -170 40.0 10.0|38 37 24 S-1 vJ -50 41.0 9.0|17 5 3v N-2 42 -100 32.0 18.0
48 27 34 V+1 &A -170 40.0 10.0| 8 14 INO= a5 -90 34.0 16.0|20 2 3¢ S-2 a5 -100 32.0 18.0
9 13 24 V+4 &A -230 31.0 19.0|17 5 24 S-2 T -100 26.0 24.0|32 43 3v S-2 T -100 32.0 18.0
54 11 24 V+4 4Q -230 31.0 19.0|22 53 24 N-2 4Q -100 26.0 24.0(33 42 2NN-2 &6 -100 32.0 18.0
15 7 44 V= A -420 20.0 30.0|29 46 24 S-2 T -100 26.0 24.0|40 35 3v S-2 %4 -100 32.0 18.0
16 6 44 V= A -420 20.0 30.0(33 42 24 N-2 vJ -100 26.0 24.0|10 12 24 V+1 #A -140 23.0 27.0
17 5 44 V= *A -420 20.0 30.0|34 41 24 S-2 vJ -100 26.0 24.0|15 7 24 V+1 ¢2 -140 23.0 27.0
28 47 44 O= &9 -420 20.0 30.0|44 31 2¢DN-1 4Q -100 26.0 24.0|22 53 34 V= *2 -140 23.0 27.0
32 43 44 V= A -420 20.0 30.0|49 26 24 S-2 vJ -100 26.0 24.0|54 11 3a V= A -140 23.0 27.0
3342 44 O= *A -420 20.0 30.0| 1 21 3+ V= 48 -110 18.0 32.0|25 50 2NO+1 +38 -150 18.0 32.0
34 41 44 V= A -420 20.0 30.0(16 6 INO+1 &2 -120 12.0 38.0| 1 21 34 V+1 &A -170 10.0 40.0
40 35 44 V= A -420 20.0 30.0|23 52 INO+1 &5 -120 12.0 38.0|16 6 24 V+2 ¢6 -170 10.0 40.0
44 31 44 O= *A -420 20.0 30.0|25 50 INO+1 &2 -120 12.0 38.0|19 3 34 O+1 #7 -170 10.0 40.0
121 44 V+1 ¢ 450 7.0 43.0(32 43 INO+1 &2 -120 12.0 38.0|23 52 24 V+2 &A -170 10.0 40.0
20 2 44 V+1 &K -450 7.0 43.0(48 27 INO+1 &2 -120 12.0 38.0(34 41 24 V+2 @7 -170 10.0 40.0
23 52 44 V+1 &A -450 7.0 43.0| 9 13 INO+2 2 -150 5.0 45.0(|44 31 34 O+1 &A -170 10.0 40.0
49 26 44 V+1 &A 450 7.0 43.0(54 11 INO+2 &2 -150 5.0 45.0(48 27 34 V+1 97 -170 10.0 40.0
10 12 44 V+2 &K -480 2.0 48.0|10 12 3vy N-4 v4 -200 2.0 48.0| 8 14 34DV +1 #A -630 2.0 48.0
45 30 S5#4DN-2 oT -500 0.0 50.0|40 35 3#DN-4 #A -800 0.0 50.0 |45 30 24DV +2 #A -670 0.0 50.0
51 - 23.0 51 - 23.0 51 - 23.0
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« KD98 35 410875 4 E107642
v K98 Syd v 1084 Vast v K2
+ E876 ov + 10963 Alla + K83
£Kn9 £96 £95
sE a742 4 E43 4 KD92 4 Kn3 495
vD1074 vEKn652 v5 v EDKn32 v 943 v EDKn76
¢ K1053 ¢ Kn42 + KD5 + EKn7 + D65 + EKn104
&#KD52 %108 #EKDKN52 #8 #D10762 #E4
4« Kn10653 & Kn6 «KD8
v3 v K976 v 1085
+D9 ¢ 842 4972
#E7643 #10743 #KKn83
Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3aDS= &K 730 50.0 0.0|17 7 S5NV+2 &7 -720 490 10|21 3 4v 0O-2 &K 200 49.0 1.0
24 V-4 49 200 48.0 2.0|18 6 4ANO+3 +¢2 -720 49.0 1.0 27 4v O-2 K 200 49.0 1.0
34 S= &K 140 450 5.0(23 1 6NV= a5 -1440 440 6.0 48 34 N= a5 140 46.0 4.0
34 N= vQ 140 450 5.0(26 51 6NV = &9 -1440 440 6.0 38 24 N= 49 110 440 6.0
4v V-1 &K 50 41.0 9.0(49 28 6NV = +6 -1440 440 6.0 13 4v O-1 &K 100 36.0 14.0
Sv V-1 &K 50 41.0 9.0| 222 6NV+1 v4 -1470 26.0 24.0 8 4v V-1 &K 100 36.0 14.0
44 N-1  ¢2 -100 36.0 14.0| 9 15 6NV +1 48 -1470 26.0 24.0 7 3v0O-1 &K 100 36.0 14.0
34 S-1 97 -100 36.0 14.0|10 14 6NV +1 6 -1470 26.0 24.0 1 49 O0-1 &K 100 36.0 14.0
44 N-1  ¢2 -100 36.0 140|116 8 6NV +1 438 -1470 26.0 24.0 51 4v O-1 &K 100 36.0 14.0
2v V+1 #K -140 32.0 18.0|19 5 6NO+1 & -1470 26.0 24.0 42 3v O-1 &K 100 36.0 14.0
3vO+1 &3 -170 27.0 23.0|20 4 6NO+1 &7 -1470 26.0 24.0 25 4v O-1 oK 100 36.0 14.0
3vV+1l &) -170 27.0 23.0|33 44 6NO+1 49 -1470 26.0 24.0 5 34 N-1 #A -100 24.0 26.0
2v V+2 & -170 27.0 23.0|35 42 6NV +1 T -1470 26.0 24.0 47 34 N-1 a5 -100 24.0 26.0
3vO+1 &) -170 27.0 23.0|37 40 6NV +1 T -1470 26.0 24.0 43 34 N-1 49 -100 24.0 26.0
40 S-2 &K -200 19.0 31.0|39 38 6NV +1 T -1470 26.0 24.0 40 34 N-1 44 -100 24.0 26.0
29 O+3 & -200 19.0 31.0|41 36 6NV +1 +6 -1470 26.0 24.0 32 34 N-1 a5 -100 24.0 26.0
3y O+2 4 -200 19.0 31.0|46 31 6NV +1 &7 -1470 26.0 24.0 15 3v O = aK -140 17.0 33.0
3y O+2 4 -200 19.0 31.0|50 27 6NV +1 &5 -1470 26.0 24.0 28 3v O= &K -140 17.0 33.0
4v O = 43 -420 13.0 37.0|52 25 6NO+1 8 -1470 26.0 24.0 14 INO+2 43 -150 14.0 36.0
4y O = a4 -420 13.0 37.0|54 12 6NV +1 v4 -1470 26.0 24.0 36 3v O+1 oK -170 12.0 38.0
4y O+1 & -450 10.0 40.0 |11 13 7NO= *2 -2220 5.0 45.0 22 34 N-2 49 -200 8.0 42.0
44DS-2 w7 -500 8.0 42.0|21 3 7NV= v4 -2220 5.0 45.0 4 34 N-2 49 -200 8.0 42.0
5¢vDV= 43 -650 5.0 45.0(29 48 7NV = va -2220 5.0 45.0 31 34 N-2 48 -200 8.0 42.0
5vDO= 3 -650 5.0 45.0|30 47 7TNO= *4 -2220 5.0 45.0 6 34 N-3 a5 -300 3.0 47.0
4vyDV +1 &K -690 2.0 48.0|34 43 INO= &7 -2220 5.0 45.0 44 44 N-3 &4 -300 3.0 47.0
5vDO +1 &2 -750 0.0 50.0 |45 32 7NV = »9 -2220 5.0 45.0 12 49 O= aK -620 0.0 50.0
26.0| - 53 26.0 53 26.0
« D96 38 108 4 K3
v KD102 Ost v EK865 Syd v K10654
¢ Kn3 ov + K10953 Alla +9
#EKD6 &2 #KKn1043
48543 4 Kn7 « D52 464 4 ED75 4Knl10642
v973 v Kn865 vDKn1072 ¢3 vDKn7 vE82
2 + EK1084 + D86 +E74 4652 4843
#108732 #Kn5 &EKn #9876543 &#E75 %62
« EK102 « EKKN973 498
vE4 v94 v93
+ D9765 ¢ Kn2 + EKDKn107
94 #KD10 D98
Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
2vyDV -5 #A 1100 50.0 0.0|53 26 3#DO-3 #4A 800 50.0 0.0 11 3NN= v5 600 50.0 0.0
2¢D0O-4 &A 800 48.0 2.0|42 37 3#DO-2 &A 500 480 2.0 13 34D 0O-2 ¢+A 500 48.0 2.0
BNS+3 ¢2 690 43.0 7.0(19 7 44 S= vQ 420 440 6.0|38 41 34 O-2 +A 200 450 5.0
BNN+3 ¢4 690 43.0 7.0(22 4 44 S= vQ 420 440 6.0(42 37 34 O0-2 +A 200 450 5.0
BNN+3 ¢4 690 43.0 7.0(25 1 44 S= SA 420 440 6.0(12 14 2v N+1 & 140 420 8.0
BNS+3 ¢2 690 430 7.0|35 44 3NN= &5 400 40.0 10.0| 3 23 3¢ S= aA 110 32.0 18.0
BNN+2 ¢38 660 25.0 25.0 |47 32 3#DO-1 &K 200 38.0 12.0(18 8 3¢ S= 2 110 32.0 18.0
ANS+1 ¢2 660 25.0 25.0 (40 39 34 S= vQ 140 36.0 14.0 (27 52 3¢ S= +9 110 32.0 18.0
B3NS +2 &2 660 25.0 25.0(30 49 24 S= vQ 110 33.0 17.0(34 45 3¢ S= vQ 110 32.0 18.0
BNS+2 ¢2 660 25.0 25.0(54 13 2v N= &3 110 33.0 17.0|35 44 2¢ S+1 &5 110 32.0 18.0
BNN+2 ¢4 660 25.0 25.0(10 16 44 S-1 ¢Q -50 21.0 29.0|40 39 2¢ S+1 ¢2 110 32.0 18.0
BNN+2 ¢2 660 25.0 25.0(12 14 44 S-1 +¥Q -50 21.0 29.0|47 32 34 S= *2 110 32.0 18.0
BNS+2 ¢2 660 25.0 25.0(15 11 44 S-1 ¢Q -50 21.0 29.0|51 28 3¢ S= *2 110 32.0 18.0
BNN+2 v6 660 25.0 25.0(17 9 44 S-1 vQ -50 21.0 29.0|53 26 3¢ S= A 110 32.0 18.0
BNN+2 & 660 25.0 25.0(20 6 44 S-1 ¢Q -50 21.0 29.0|10 16 24 O-1 +A 100 22.0 28.0
BNN+2 ¢A 660 25.0 25.0(21 5 44 S-1 ¥J -50 21.0 29.0|17 9 2NS-1 45 -100 17.0 33.0
3NS+2 ¢3 660 25.0 25.0(27 52 44 S-1 ¢Q -50 21.0 29.0|20 6 2NN-1 &2 -100 17.0 33.0
BNN+2 ¢4 660 25.0 25.0|36 43 44 S-1 46 -50 21.0 29.0|36 43 2NN-1 &J -100 17.0 33.0
BNN+2 ¢A 660 25.0 25.0(46 33 44 S-1 v7 -50 21.0 29.0|50 29 2NN-1 «J -100 17.0 33.0
BNN+2 & 660 25.0 25.0|51 28 44 S-1 46 -50 21.0 29.0|122 4 3NN-2 & -200 8.0 42.0
44 S+1  #2 650 10.0 40.0| 3 23 44 S-2 vQ -100 5.0 450125 1 3NN-2 a2 -200 8.0 42.0
BNS+1 ¢2 630 40 46.0(18 8 44 S-2 vQ -100 5.0 45.0|30 49 3NN-2 a2 -200 8.0 42.0
BNN+1 & 630 4.0 46.0|31 48 34 S-2 ¥vQ -100 5.0 45.0|31 48 3NN-2 &2 -200 8.0 42.0
AN N = aJ 630 4.0 46.0 (34 45 44 S-2 &A -100 5.0 45.0|46 33 4y N-2 v2 -200 8.0 42.0
BNN+1 ¢A 630 40 46.0|38 41 3NS-2 3 -100 5.0 45.0|19 7 3NS-3 44 -300 1.0 49.0
3BNN+1 ¢5 630 4.0 46.0|50 29 44 S-2 ¥vQ -100 5.0 450|121 5 4vy N-3 &2 -300 1.0 49.0
250| - 2 250| - 2 25.0
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40 « D974 41 4 D76 42 & Kn2
Vast v DKn2 Nord v 1032 Ost v 854
Ingen ¢+ 73 ov + K1076 Alla + EDKn93
K653 #Kn98 &EKKn
4 EK10862 #Kn 4Knl03 &2 4 K106 « ED87
v K76 v E109853 v DKn v 987654 v Kn9 vE63
¢ Kn6 + ED1084 ¢ EDKN92 453 4+ K108542 ¢ -
&ED &7 K104 #E652 D3 £1086542
453 « EK9854 49543
va v EK v KD1072
¢ K952 + 84 +76
#Kn109842 D73 97
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
48 33 6NO-5 &J 250 50.0 0.0|54 14 3¢DV-3 46 800 50.0 0.0|36 45 44DO-3 ¥K 800 50.0 0.0
35 46 64 V-3 &5 150 47.0 3.0(32 49 3NN+1 5 430 47.0 3.0(20 8 3vDS= £Q 730 48.0 2.0
37 44 6NV-3 7 150 47.0 3.0(39 42 3NN+1 ¥9 430 47.0 3.0|48 33 3#DO-2 #9 500 46.0 4.0
127 7v0-2 & 100 43.0 7.0 1 27 44 S= 43 420 36.0 14.0|54 14 3¢ V-3 &A 300 440 6.0
13 15 7vy V-2 o7 100 43.0 7.0(12 16 44 S= aJ 420 36.0 14.0(11 17 3#0-2 7 200 39.0 11.0
11 17 6v O-1 v4 50 26.0 24.0(19 9 44 N= vJ 420 36.0 14.0|28 53 24 O-2 ¢7 200 39.0 11.0
12 16 6y V-1 ¢7 50 26.0 24.0(21 7 44 S= vQ 420 36.0 14.0|35 46 24 V-2 &A 200 39.0 11.0
19 9 6v O-1 &5 50 26.0 24.0(25 3 44 S= vQ 420 36.0 14.0|52 29 3«DO-1 +7 200 39.0 11.0
22 6 6YyV-1 7 50 26.0 24.0 |47 34 44 S= 43 420 36.0 14019 9 3v S= *Q 140 29.0 21.0
523 6v0-1 #J 50 26.0 24.0 (48 33 44 S= 43 420 36.0 14021 7 2v S+1 #Q 140 29.0 21.0
25 3 6vy0O-1 #J 50 26.0 24.0|51 30 44 S= vQ 420 36.0 14.0(26 2 3v N= »6 140 29.0 21.0
26 2 6y V-1 7 50 26.0 24.0|52 29 44 S= 43 420 36.0 14.0|37 44 2v N+1 &4 140 29.0 21.0
28 53 6Y O-1 #J 50 26.0 240|120 8 3NS= +Q 400 26.0 24.0(39 42 2v S+1 #Q 140 29.0 21.0
32 49 6y O-1 &J 50 26.0 24.0|43 38 4v O-3 &A 300 24.0 26.0 |47 34 29y N+1 &6 140 29.0 21.0
36 45 6y O-1 #J 50 26.0 24.0 (11 17 24 S+2 ¢Q 170 14.0 36.0|31 50 2v S= *4 110 21.0 29.0
43 38 6v O-1 #J 50 26.0 24.0(13 15 24 S+2 ¥Q 170 14.0 36.0 (41 40 2v S= 2Q 110 21.0 29.0
47 34 6v O-1 %9 50 26.0 24.0(18 10 24 S+2 ¥Q 170 140 36.0|25 3 3#0-1 vK 100 18.0 32.0
51 30 6y O-1 #J 50 26.0 24.0|22 6 24 S+2 v2 170 14.0 36.0|18 10 2¢ N-1 &3 -100 12.0 38.0
52 29 6v O-1 &9 50 26.0 240|123 5 24 S+2 ¢Q 170 140 36.0|22 6 3v S-1 &K -100 12.0 38.0
54 14 6y O-1 &J 50 26.0 24.0(26 2 34 S+1 ¢Q 170 14.0 36.0|32 49 4v S-1 #Q -100 12.0 38.0
21 7 4vy O+1 &J -450 8.0 42.0|28 53 34 N+1 vQ 170 14.0 36.0 |43 38 4v S-1 #Q -100 12.0 38.0
31 50 4v O+1 &J -450 8.0 42.0|35 46 24 S+2 vQ 170 14.0 36.0(51 30 2¢ N-1 &3 -100 12.0 38.0
39 42 4v O+1 &) -450 8.0 42.0|36 45 24 S+2 vQ 170 140 360 1 27 2 0+1 7 -110 5.0 45.0
18 10 4v O+2 +¢5 -480 4.0 46.0|37 44 2NN+1 vQ 150 40 46.0(23 5 3#0= *2 -110 5.0 45.0
41 40 44DV +2 vQ -790 2.0 48.0|31 50 34 S= vQ 140 1.0 49.0|13 15 2#DO= 7 -180 2.0 48.0
20 8 6y V= +5 -980 0.0 50.0 |41 40 24 S+1 & 140 1.0 49.0|12 16 3¢ N-2 &2 -200 0.0 50.0
4 - 23.2 4 - 23.2 4 - 23.2
43 « KD962 44 « DKn4 45 48764
Syd v- Vast v KKn107 Nord v EK652
Ingen 410985432 NS + DKn108 Alla ¢ E2
&5 &K2 92
a- 4 EKn1054 4E92 410 4 EKN532 4K9
v 109743 v EK85 v 62 v E9854 vKn10 vD9843
¢D .7 49764 ¢ E2 + 1094 + K73
#EKD10963 #Kn84 D873 #EKn954 #ED3 #3875
4873 4« K87653 «D10
v DKn62 vD3 v7
¢ EKKn6 + K53 + DKn865
&72 £106 #KKn1064
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
32 51 7¢vDV-3 +4 500 50.0 0.0(12 18 14 N+3 T 170 500 0.0(27 3 2 0-2 v7 200 49.0 1.0
14 16 6vyDV-2 ¢T 300 45.0 5.0(44 39 34 N= v3 140 470 3.0|32 51 24 V-2 YA 200 49.0 1.0
19 11 64DV -2 T 300 450 5.0(54 15 34 S= *A 140 470 3.0(19 11 34 S= *T 110 46.0 4.0
20 10 64DV -2 +T 300 450 5.0(14 16 24 N= v6 110 43.0 7.0(20 10 INS= a2 90 440 6.0
52 31 6vyDV-2 &K 300 450 50|26 4 24 S= v6 110 430 7.0|22 8 34S-1 &A -100 41.0 9.0
38 45 3NO-3 +A 150 40.0 10.0(27 3 5#0-1 ¢Q 50 40.0 10.0|52 31 3# N-1 K -100 410 9.0
22 8 6vyDV-1 &K 100 37.0 13.0| 2 28 34 S-1 v¥5 -100 36.0 14029 1 24 V= vA -110 37.0 13.0
53 30 6vDV-1 &K 100 37.0 13.0|37 46 3¢ N-1 T -100 36.0 14.0|44 39 24 O= vA -110 37.0 13.0
228 5v0-1 K 50 29.0 21.0|49 34 34 S-1 ¥5 -100 36.0 14.0|12 18 24 V+1 YA -140 33.0 17.0
12 18 6v V-1 &K 50 29.0 21.0|33 50 44 O = 43 -130 31.0 19.0|23 7 34 V= ¢ A -140 33.0 17.0
13 17 6y V-1 &K 50 29.0 21.0|48 35 3 O +1 &3 -130 31.0 19.0| 5 25 24 V+2 ©vA -170 30.0 20.0
42 41 6y V-1 &K 50 29.0 21.0| 525 3#0+2 3 -150 19.0 31.0| 2 28 INS-2 a2 -200 22.0 28.0
49 34 64 0-1 &K 50 29.0 21.0|13 17 3# O +2 %3 -150 19.0 31.0|21 9 INS-2 a2 -200 22.0 28.0
54 15 6v V-1 &K 50 29.0 21.0|19 11 440 +1 46 -150 19.0 31.0|36 47 INS-2 a2 -200 22.0 28.0
525 5¢DN-1 vA -100 18.0 32021 9 44 0+1 3 -150 19.0 31.0|40 43 INS-2 a2 -200 22.0 28.0
23 7 5¢DN-1 vA -100 18.0 32.0|22 8 44 V+l ¢Q -150 19.0 31.0|42 41 INS-2 43 -200 22.0 28.0
27 3 5¢DS-1 #A -100 18.0 320|123 7 3#0+2 vQ -150 19.0 31.0|49 34 INS-2 43 -200 22.0 28.0
33 50 6¢ N-2 ¢K -100 18.0 32.0(|32 51 44V +1l &Q -150 19.0 31.0|53 30 INS-2 3 -200 22.0 28.0
48 35 5¢DN-1 ¢K -100 18.0 32.0(36 47 44 O+1 45 -150 19.0 31.0|13 17 INS-3 42 -300 11.0 39.0
21 9 66DN-2 vA -300 10.0 40.0|38 45 3O +2 vQ -150 19.0 31.0|37 46 INS-3 42 -300 11.0 39.0
36 47 6¢DS-2 #A -300 10.0 40.0|40 43 3# O+2 &5 -150 19.0 31.0|38 45 INS-3 a2 -300 11.0 39.0
44 39 66DN-2 &A -300 10.0 40.0|29 1 34 S-2 v6 -200 6.0 44.0|48 35 INS-3 a2 -300 11.0 39.0
26 4 4v V+1 &K -450 5.0 45.0|42 41 34DS-1 #Q -200 6.0 440|126 4 2v N-4 &K -400 5.0 45.0
29 1 4vV+1l &K -450 5.0 45.0|53 30 34DS-1 v6 -200 6.0 440|133 50 2v N-4 &K -400 5.0 45.0
37 46 5vDO= K -650 2.0 48.0(|52 31 3NN-3 &3 -300 2.0 48.0|54 15 24DV +1 vA -870 2.0 48.0
40 43 44DN-6 YA -1400 0.0 50.0|20 10 3vyD O = T -530 0.0 50.0|14 16 3vyDN-5 &K -1400 0.0 50.0
- 6 244 - 6 244 - 6 24.4
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8 47 + EK1095 #7643
vE1063 Syd v 87 v EKn104
¢+ ED876 NS + KKn9 + D96
#1095 &E94 72
K53 «E10976 «Kn876 «D3 «E982 & KDKn
vKn7 v K42 v K52 vE93 v52 v D83
¢ Kn9432 +K ¢ E72 + D543 ¢+ KKn5 ¢ E874
»743 *ED86 #753 +D1082 #K954 #1083
« DKn42 a42 105
v D985 v DKn1064 v K976
¢ 105 + 1086 ¢ 1032
#KKn2 #KKn6 #EDKn6
Kontr Ut Res Poang Par  Kontr Ut Res Poang Kontr Ut Res
3vyDS+1 3 630 50.0 0.0|25 7 3NN+1 &2 630 50.0 0.0 3NO-2 vT 200 1.0
34D0O-2 v8 300 480 20|30 2 INS+2 3 150 47.0 3.0 2NO-2 o7 200 1.0
44 O-3 T 150 46.0 4.0|49 36 2¢ V-3 &A 150 470 3.0 2y N = & K 110 4.0
3v S= 3 140 440 6.0| 6 26 29 S+1 &7 140 33.0 17.0 2NO-1 v7 100 14.0
29y N= a2 110 420 8.0|13 19 2¢ N+1 3 140 33.0 17.0 2NO-1 v7 100 14.0
24DO-1 v8 100 32.0 18.0|14 18 2¢ N+1 &Q 140 33.0 17.0 4e V-1 &7 100 14.0
24 O-2 v8 100 32.0 18.0|20 12 2v S+1 &3 140 33.0 17.0 la V-1 #4 100 14.0
34 0O-2 v8 100 32.0 18.0|22 10 2¢v S+1 &2 140 33.0 17.0 2NO-1 o7 100 14.0
24DO-1 T 100 32.0 18.0(23 9 2v N+1 &2 140 33.0 17.0 2NO-1 T 100 14.0
34DO-1 v8 100 32.0 18.0|27 5 2v N+1 8 140 33.0 17.0 2NV-1 »T 100 14.0
34DO-1 T 100 32.0 18.0|34 51 2¢v N+1 ¢4 140 33.0 17.0 2NO-1 v7 100 14.0
34 O-2 o7 100 32.0 18.0|38 47 2v N+1 ¢4 140 33.0 17.0 2NO-1 v7 100 14.0
34 0-2 T 100 32.0 18.0|43 42 2v N+1 &Q 140 33.0 17.0 Pass .0 26.0
24DO-1 T 100 32.0 18.0|50 35 2¢v N+1 %8 140 33.0 17.0 Pass .0 26.0
INO-1 +8 50 18.0 32.0(53 32 2v S+1 &3 140 33.0 17.0 Pass .0 26.0
34 O-1 5 50 18.0 320 3 29 INS+1 #2 120 18.0 32.0 INO = v5 -90 .0 33.0
24 O-1 ¢8 50 18.0 32.0(15 17 INS+1 ¢2 120 18.0 32.0 INO = v7 -90 .0 33.0
INO-1 +4 50 18.0 32.0 (45 40 INN+1 &Q 120 18.0 32.0 INO = v7 -90 .0 33.0
24 O-1 o7 50 18.0 32.0 (21 11 24 N= *4 110 10.0 40.0 INO = v7 -90 17.0 33.0
INS-1 &3 -50 11.0 39.0(28 4 24 N= vA 110 10.0 40.0 3y N-2 «K -100 12.0 38.0
2¢ N-1 49 -50 11.0 39.0 (37 48 2v N= »2 110 10.0 40.0 264 O = oT -110 9.0 41.0
329 3vS-2 a3 -100 8.0 42.0|41 44 24 N= *8 110 10.0 40.0 (41 44 24 V= *7 -110 9.0 41.0
131 24 0= *7 -110 4.0 46.0|54 16 24 N= *4 110 10.0 40.0 (15 17 INO+1 2 -120 4.0 46.0
23 9 24 O= T -110 4.0 46.0|33 52 INN= *2 90 3.0 470|133 52 2NO = oT -120 4.0 46.0
41 44 24 O= *T -110 4.0 46.0(46 39 INS= *7 90 3.0 47.0|45 40 2NO= aT -120 4.0 46.0
54 16 24DO= T -470 0.0 50.0| 1 31 INV= a5 90 0.0 50.0(20 12 32V +1 &7 -130 0.0 50.0
- 8 243 - 8 243 - 8 24.3
49 K4 50 « D109 51 » K76
Nord vD7632 Ost v 753 Syd vKD7
¢ EKn543 NS ¢ KKn1072 + ED83
*6 +D4 #Kn96
49762 4 E105 2542  #Kn3 « EKn94 4D1032
vE1054 vKKn8 vE86 v KKn109 vE1065 v9843
+1097 ¢K ¢ E964 ¢ D5 410965 ¢ -
+104 #D98732 #E72  #KB8653 *8 #ED1072
« DKn83 « EK876 485
v9 v D42 v Kn2
+ D862 +83 + KKn742
#EKKnNS5 #Kn109 #K543
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res
39 48 3NS+2 &T 460 49.0 1.0(22 12 4v O-2 &A 100 48.0 2.0| 2 32 3NN= *2 400 50.0 0.0
51 36 BNS+2 &T 460 49.0 1.0|23 11 3v O-2 &A 100 480 20|28 6 3v O-2 +A 200 470 3.0
2 32 3NS= 46 400 430 7.0(28 6 2NO-2 a7 100 48.0 2.0|50 37 44 V-2 ¢K 200 47.0 3.0
4 30 3NS= &T 400 430 7.0| 232 3v0O-1 oA 50 40.0 10.0|21 13 INN+3 &7 180 440 6.0
15 19 3NS= 46 400 430 7.0|21 13 2¢v V-1 49 50 40.0 10.0|26 8 INN+2 &7 150 40.0 10.0
16 18 3NN = vK 400 43.0 7.0(29 5 INO-1 46 50 40.0 10.0|44 43 2NN +1 %3 150 40.0 10.0
35 52 3¢ N+2 #3 150 35.0 15.0(38 49 INO-1 &J 50 40.0 10.0|51 36 2NN +1 &2 150 40.0 10.0
42 45 3¢ S+2 AT 150 35.0 15.0(44 43 3#0-1 9 50 40.0 10.016 18 2NN = a4 120 34.0 16.0
50 37 2N S+1 &T 150 35.0 15.0| 7 27 INV= T -90 33.0 17.0|125 9 INN+1 ¥9 120 .0 16.0
54 17 3¢ N+2 %3 150 35.0 15.0 40 47 2% V= 49 -90 33.0 17.0|42 45 2NN= v9 120 .0 16.0
26 8 3¢ N+1 &8 130 27.0 23.0(15 19 INN-1 #3 -100 28.0 22.0| 1 33 4v V-1 +A 100 .0 22.0
34 53 2¢ N+2 &8 130 27.0 23.0(16 18 24 S-1 v¥6 -100 28.0 22.0|22 12 44 O-1 &2 100 .0 22.0
40 47 3¢ N+1 43 130 27.0 23.0|54 17 34 S-1 YA -100 28.0 22.0|38 49 3y V-1 &6 100 .0 22.0
46 41 3¢ N+1 &8 130 27.0 23.0| 4 30 38 V= 49 -110 18.0 32.0|34 53 INN= »2 90 .0 26.0
22 12 1v S+1 &2 110 21.0 29.0|14 20 2V +1 49 -110 18.0 32.0|29 5 3¢ S-1 &8 -50 .0 30.0
31 3 2¢ N= »5 110 21.0 29.0(34 53 2v O = *J -110 18.0 32.0|31 3 2NN-1 &2 -50 .0 30.0
14 20 14 S= *T 80 18.0 32.0 (35 52 2 O+1 49 -110 18.0 32.0|54 17 4¢ N-1 43 -50 .0 30.0
133 3NS-1 &T -50 9.0 41.0(39 48 3# V= 49 -110 18.0 32.0|39 48 3NDN-1 43 -100 .0 35.0
7 27 3NS-1 &T 50 9.0 41.0(42 45 3+ 0= & A -110 18.0 32.0|46 41 3¢DS-1 &8 -100 15.0 35.0
21 13 3NS-1 T 50 9.0 41.0(50 37 1v O+1 #J -110 18.0 32.0| 4 30 24 V= vK -110 11.0 39.0
23 11 3NN-1 &9 50 9.0 41025 9 2NV= *T -120 10.0 40.0 |40 47 2v V= *A -110 11.0 39.0
28 6 3NN-1 oT 50 9.0 410( 133 3vO= +Q -140 8.0 42.0|14 20 34 O= *2 -140 6.0 44.0
29 5 3NS-1 T 50 9.0 41.0(26 8 INO+2 A -150 6.0 44.0|15 19 3v O= 8 -140 6.0 44.0
38 49 3NS-1 T 50 9.0 410(31 3 2¢ S-2 ©vA -200 3.0 47.0|35 52 24 V+1 ¥K -140 6.0 44.0
44 43 3NN-1 &T 50 9.0 41.0(51 36 34 S-2 #A -200 3.0 47.0| 7 27 5¢DS-2 &A -300 2.0 48.0
25 9 3NS-2 T -100 0.0 50.0|46 41 34DS-3 42 -800 0.0 50.0|23 11 3vyDV= 46 -730 0.0 50.0
- 10 225| - 10 225| - 10 22.5
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52 « DKn854 53 410 54 & KKn10863
Vast v932 Nord v 752 Ost vE96
Alla 463 NS + ED87 ov 463
D108 #E10862 &K7
& K7 a3 4 DKn972 4 E64 492 a7
v DKn8 v EK5 v94 v E863 vyKn75 vK1043
¢+ KKn + D109852 + K4 + Kn63 ¢ KD105 ¢ Kn872
#Kn95432 #E76 &#KKn93 #754 &#E643 #9852
4 E10962 & K853 « ED54
v 10764 v KDKn10 v D82
¢E74 ¢ 10952 ¢ E9%4
&K &D #DKn10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
531 54DO-2 «Q 500 50.0 0.0 531 44DO-3 ¥2 500 46.0 4.0(15 21 3NS+2 ¢K 460 50.0 0.0
333 5#4V-2 &Q 200 450 5.0(17 19 34DV-3 ¥2 500 46.0 4.0| 8 28 44 N+1 &6 450 39.0 11.0
30 6 5#V-2 &Q 200 450 5.0(27 9 34DV-3 T 500 46.0 4.0(16 20 44 N+1 &9 450 39.0 11.0
47 42 54V -2 4Q 200 450 5.0(29 7 34DV-3 v¥2 500 46.0 4.0(17 19 44 N+1 &5 450 39.0 11.0
52 37 5#V-2 &«Q 200 450 5.0(30 6 34DV-3 ¥2 500 46.0 4.0(23 13 44 N+1 &5 450 39.0 11.0
17 19 24 N= vA 110 40.0 10.0 (16 20 34DV -2 ¥2 300 38.0 12.0(27 9 44 S+1 9 450 39.0 11.0
8 28 3NV-1 a5 100 27.0 23.0(39 50 34DV-2 v¥2 300 38.0 12.0(30 6 44 S+1 &2 450 39.0 11.0
15 21 3NO-1 «9 100 27.0 23.0(54 18 34DV -2 ¢A 300 38.0 12.0(35 1 44 N+1 &5 450 39.0 11.0
16 20 3BNV-1 «Q 100 27.0 23.0| 8 28 34 V-3 v2 150 33.0 17.0(36 53 44 N+1 &6 450 39.0 11.0
22 14 5¢ O-1 &K 100 27.0 23.0 (45 44 34 V-3 &A 150 33.0 17.0(40 49 44 S+1 ¢K 450 39.0 11.0
23 13 44 V-1 «Q 100 27.0 23.0(32 4 2y N+1 3 140 29.0 21.0(45 44 464 S+1 ¢K 450 39.0 11.0
25 11 44 V-1 «Q 100 27.0 23.0 (47 42 3v S= a5 140 29.0 21.0(39 50 3NS+1 #4 430 28.0 22.0
29 7 3NV-1 &4 100 27.0 23.0(22 14 3¢ S= &Q 110 240 26.0| 2 34 464 N= +6 420 17.0 33.0
32 4 44 V-1 &«Q 100 27.0 23.0(23 13 3¢ S= &Q 110 24.0 26.0| 3 33 44 S= + K 420 17.0 33.0
36 53 3NV-1 &Q 100 27.0 23.0(25 11 3¢ S= 4Q 110 240 26.0| 5 31 44 N= 7 420 17.0 33.0
43 46 3NV-1 «Q 100 27.0 23.0| 2 34 24DV -1 T 100 15.0 35.0 (22 14 44 N= 7 420 17.0 33.0
51 38 3NV-1 &5 100 27.0 23.0| 3 33 34 V-2 ¢A 100 15.0 35.0 (25 11 44 S= + K 420 17.0 33.0
54 18 3NV-1 &4 100 27.0 23.0(15 21 34 V-2 v2 100 15.0 35.0 (26 10 44 S= *+K 420 17.0 33.0
35 1 3eV= 4Q -110 13.0 37.0|26 10 34 V-2 92 100 15.0 35.0(29 7 44 S= + K 420 17.0 33.0
45 44 3& V= &Q -110 13.0 37.0|36 53 24 V-2 &T 100 15.0 35.0(32 4 44 S= + K 420 17.0 33.0
26 10 3¢ O+1 &A -130 9.0 41.0|40 49 34 V-2 92 100 15.0 35.0 (47 42 44 S= *+K 420 17.0 33.0
39 50 4¢ O= &K 2130 9.0 410|135 1 4v S-1 a2 -100 7.0 43.0|51 38 44 S= + K 420 17.0 33.0
2 34 34S-2 ¢K -200 5.0 45.0|51 38 3v S-1 46 -100 7.0 43.0|41 48 3NS= + K 400 4.0 46.0
41 48 34 S-2 +K 200 5.0 45.0|41 48 4v S-2 «Q -200 4.0 46.0|43 46 3NS= *+K 400 4.0 46.0
40 49 34DS-2 ¢K -500 2.0 48.0|43 46 44 N-3 45 -300 2.0 48.0|52 37 3NS= + K 400 4.0 46.0
27 9 3NO+ a9 -630 0.0 50.0|52 37 4vDS-2 «Q -500 0.0 50.0|54 18 64 S-2 +¢K -100 0.0 50.0
- 12 275 - 12 275| - 12 27.5
55 494 56 - 57 a7
Syd v K985 Vast v 107642 Nord v KKn9
Alla ¢ KKn1093 Ingen + KD874 ov ¢ E53
108 872 #K98764
«D1083 & EKn76 410654 &EKKn93 & D932 & Kn5
vD1043 v6 vKn98 vE53 v D105 v 38743
¢- + D862 + E10 +3 + 106 + KD9874
&#D5432 #EK97 #K1063 #EDKn5 &#EKN103 &2
& K52 4 D872 « EK10864
v EKn72 v KD vE62
¢ E754 4 Kn9652 ¢ Kn2
#Kn6 94 &D5
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
4 34 2e0DN+1 v6 380 50.0 0.0|17 21 64 O-2 +¢2 100 49.0 1.0(27 11 3NN+1 K 430 48.0 2.0
44 47 44D O-1 ¢K 200 48.0 2.0|48 43 54 O-2 ¢2 100 49.0 1.0(40 51 3NN+1 K 430 480 2.0
52 39 2v N+1 &A 140 46.0 4.0|23 15 64 O-1 ¥K 50 40.0 10.0 (41 50 3NN+1 K 430 48.0 2.0
9 29 INS+1 &8 120 440 6.0|27 11 64 O-1 ¢K 50 40.0 10.0 (23 15 44 S= v5 420 440 6.0
16 22 3¢ S= &6 110 40.0 10.0|28 10 64 O-1 K 50 40.0 10.0| 4 34 3NS= a3 400 410 9.0
41 50 2y N= &A 110 40.0 10.0|30 8 54 O-1 ¢J 50 40.0 10.0 (53 38 3NN= +K 400 41.0 9.0
54 19 2v S= LY:] 110 40.0 10.0|31 7 54 O-1 ¢2 50 40.0 10.0(33 5 24 N+1 T 140 38.0 12.0
40 51 2¢ N= &A 90 36.0 14.0|41 50 54 O-1 ¢J 50 40.0 10.0 (54 19 3& S= *T 110 36.0 14.0
53 38 3v N-1 #A -100 34.0 16.0 |44 47 64 O-1 +vK 50 40.0 10.0| 3 35 44 S-1 T -50 26.0 24.0
28 10 24 O= v2 -110 32.0 18.0|25 13 5¢DS-2 oT -300 31.0 19.0|16 22 44 S-1 T -50 26.0 24.0
27 11 3« V+1 v6 -130 30.0 20.0 |54 19 5¢DN-2 &A -300 31.0 19.0|17 21 3NN-1 ¢2 -50 26.0 24.0
42 49 24 V+1 8 -140 27.0 23.0| 3 35 44 O= *2 -420 25.0 25.0125 13 44 S-1 T -50 26.0 24.0
48 43 34 V= &T -140 27.0 23.0| 6 32 44 O= *2 -420 25.0 25.0|30 8 3NN-1 +6 -50 26.0 24.0
30 8 34 V+1l ¢8 -170 23.0 27.0|36 2 44 O= *2 -420 25.0 25.0|36 2 3NN-1 K -50 26.0 24.0
37 1 34V+l ¢8 -170 23.0 27.0|37 1 44 V= +K -420 25.0 25.0142 49 44 S-1 T -50 26.0 24.0
18 20 3vy S-2 &2 -200 15.0 35.0(33 5 3NO+1 &2 -430 20.0 30.0|48 43 44 S-1 T -50 26.0 24.0
23 15 24 V+3 v8 -200 15.0 35.0| 4 34 44 O+1 v¥K -450 9.0 41052 39 3NN-1 +v8 -50 26.0 24.0
25 13 34 V+2 ¢8 -200 15.0 35.0| 9 29 44 O+1 &9 -450 9.0 41.0| 6 32 3NN-2 +¢Q -100 13.0 37.0
31 7 4vDS-1 &8 -200 15.0 35.0|16 22 54 O = vK 450 9.0 41.0)|26 12 44DS-1 T -100 13.0 37.0
36 2 INDS-1 &6 -200 15.0 35.0|18 20 44 O+1 ¥vQ 450 9.0 41.0(28 10 44 N-2 T -100 13.0 37.0
46 45 3v N-2 &A -200 15.0 35.0(|26 12 44 O+1 ¢K -450 9.0 41.0(|37 1 3NN-2 v4 -100 13.0 37.0
3 35 4vyDN-2 &A -500 6.0 44.0|40 51 44 O+1 &9 450 9.0 41.0| 9 29 3NN-3 +¢K -150 8.0 42.0
26 12 3vDS-2 &2 -500 6.0 44.0(|42 49 44 O+1 vK 450 9.0 41.0(|18 20 4v S-4 T -200 6.0 44.0
33 5 4vDN-2 &A -500 6.0 44.0|46 45 44 O+1 ¢K -450 9.0 41.0|44 47 54DN-2 +6 -300 3.0 47.0
17 21 44 V= v8 -620 2.0 48.0(52 39 44 O+1 ¢2 -450 9.0 41.0|46 45 54D N-2 &J -300 3.0 47.0
6 32 44DO= ¢A -790 0.0 50.0|53 38 44 O+1 ¢¥K -450 9.0 41.0|31 7 44DS-3 T -500 0.0 50.0
- 14 240| - 14 240| - 14 24.0
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